Equal 9 step grey scaling betweeb* g3n=20.0 andL* y,,=103.0,Ypet=108.0, normalisation white

f

g%= 100, g’y= 99

9%= 25, %= 19

L*0an=20.0,L*0a=61.5,L*0an=103.0,Ypan=3.0, Yoa=29.8, Yoan=108.0,Coay=Yoaw: Yoan=36.0
L*taN=79.3,L*ta=86.5,L*taw=103.0,¥1aN=55.5, Y1a=68.9, ¥1an~108.0,Gay=Yaw: Yran=1.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cleLaB = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,,=100
g%= 89, g%5= 73
linearized output
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L*cieLaB  intended output real output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1168 *a AlL*la

Og 103.0 1.0 1080 1.0} 103.0 1.0 1080 1.0 103.0
100+ : 4.9

8 926 0875 821 0.754 98.1 0791 951  0.87 99.9
: 44

7 823 075 608 055 936 0.603 84.4  0.741 96.9
' 3.9

ST @6 719 0625 435 0386 89.7 044 757 0613 93.9
: 3.3

@5 615 05 298 0256 865 0.301 68.9 049 90.9
1 2.6

50+ @4 512 0375 194 0156 838 0.189 63.7  0.371 88.1
: 2.0

@3 208 025 117 0083818 0.103 59.9  0.258 85.4
: 15

.2 304 0125 64  0.03280.3 0.041 57.2 0.149 82.9
25+ 3 1.0

@: 200 00 30 00:793 00 555 0.0 79.3

) : TS Yoait+ Y.
L AL*n.= = i normalisation: Yigiw=Yoaw2ai 0ref
0l AL* =104 (=12,...8) | taiw=Yoawy 2y

eek21-7n



